
Q1. An article describes several characteristics of fuel rods used in a reactor owned by an 

electric utility in Norway. Measurements on the percentage of enrichment of 12 rods 

were reported as follows: 
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a. Construct a 99% confidence interval for the mean percentage enrichment. State any 

necessary assumptions. 

 

 

 

 

 

 

b. Given that the standard deviation of the percentage enrichment of All the fuel rods is 

1.1, compute the maximum error in estimating the mean percentage enrichment with a 

99% confidence level. State any necessary assumptions. 

 

 

 

 

 

 

Q2. A study is to be conducted of the percentage of homeowners who own at least two 

television sets. How large a sample is required if we wish to be 95% confident that the 

error in estimating this quantity is less than 0.017? 
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